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nwn: 9N
a 3" party must intervene to save a potential victim from murder, homosexual assault and nomrnn N3
However: not bestiality, naw %% or 1"y
Source: v. 1
i rejected: v. 1is used to teach that you have to rescue someone in mortal danger
1 challenge: saving someone is derived from mxy n7ar (if his property must be saved, certainly his life)
2 Answer: that would only teach to rescue him; to worry about full saving (e.g. care) — v. 1
rather: derived via v’p from nomrnn 71 — who is only going to be shamed, yet may be saved
i inferred: from v. 2 — n% yvn PR > if there were a savior, he’d be obligated to save her, no matter what the cost
1 challenge: we don’t punish based on a p (10 1n PYNY PR)
2 answer: correct —rather, v. 2 equates the two
(a) the equation: uses n¥11 as the index, and ends up applying back to nx»
(b) just as: npRNN NP1 may be saved at expense of perpetrator’s life, so too with n¥17

II  np29x (consistent with mwn) — explicitly lists 77an v2»m mn»3 »a7n (associated with ny)

a

Derivation: 791 — homosexuality; N1 — NDIRNN MIPI; RON — MINYI2; MN — 772 N°N
i Justification: if we only knew 951, 8”10 because it’s unnatural; if we only had nv1Rnn 1Y) — R0 because it is a
great shame — which is untrue for 951. If we had these two — we would apply those reasons — but not other m»y
1 And if: we only had ron, 8™70 it applies even to 1185 »27'n — therefore it states nn
2 And if:it only said nmn, we wouldn’t know to include mn»3 »a»n
(a) Challenge: why not just write mn ron and the first two are automatically derived
(b) Answer: indeed — nIyn 1 are there to exclude "p& naw nnna
(i) But: to w™, who includes 1", one excludes nnna, the other —naw
1. Justification: we might have inferred via %15>n::%15’n from 1"y
(ii) But: to w”ar1, who includes naw — 91 excludes bestiality; the other is parallel construction
ii ~ Challenge (to inclusion of 17117775 »37’r7): ®:3 M2IN2 — 5”n are included in those who get v1p, but not 77ann (due to n”a%p)
1 Explanation: they can’t be killed as 17, else they’d be exempt from vip as per n"adp
2 Answerl (1”17 1237): "R happens at nXayn, liability for vap only at nx»a )
(a) Rejection: that only works if n®yn is contact; if it is penetration — same as vip
Answer2 (n77): if he first had n3773 XYW N2 (when he could’ve been killed) then incurred vip via n3773 NR*1
Answer3 (837): if she told the rescuers to leave him alone, as per N1’ "
Answer4 (97): if it was consensual (no 9T, but v1p is still there)
Answer5 (»2N): if the rescuer could have saved her without killing him (= not "nn>n 2n”)
(a) Asper: 51Rw 12 1My 9, following 8™’s explanation of vv. 3-4
(i) Proof: since this attacker, who intends to kill (x™), could be killed, he shouldn’t have to pay m7o »n7
1. Rather: it must be a case where he could be saved without killing him
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(ii) Rejection: perhaps when death is due to one and payment to another — no n”a%p
(iil) Block: a 9T is exempt from damages, even to goods belonging to a 3™ party — n”a%p
1. Note: the victim is exempt from damage to 914’s vessels — but not to others’
2. And: rescuer is always exempt — as public policy to ensure that people will step in to help
But: not 1IRY »27n, such as 339 1InHR, VTN JNIY INLM VI
And: once she has been violated, we may no longer kill him
And: if she can be saved some other way — may not kill the attacker
i 7mm 7 evenif she instructs her savior to leave the attacker be to spare her life - must leave him be
ii ~ Bone of contention: whether the n7yn has objective concern for her oy (1329)
1 Or: because she may martyr herself rather than submit (nmn> "), in this case, she won’t do so = no rescue.
2 Challenge (»an5 97): if maa is the issue, even 3”35 nnYx should be considered
(a) Answer: the N is concerned only with “major 09" (e.g. NoIRNN NIYI)
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